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(07 Marks)

(06 Marks)

Find the bilinear transfotniation which maps the points l, i, -l onto the points i, 0, -l
respectively. .'' (07 Marks)

Evaluate i tT,"Xli.iidtl3' dz where C is the circle lzl= 3, using Cauchy's integralr. (z_t).(z_2)
formula. {"".'': (07 Marks)
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Fourth Semester B.E. Degree Examinatio'h; Aug./Sept.2020
Engineering Mathematics - lV

;L'l],. '':

Time:3 hrs. *i,..',, ,.Max. Marks:100
;lin, =. ",- llu.

Notez Answer any FIVE full questions, selecpQl,P'a1 least TWO full questioii from each parl

I a' Using Taylor's series method, ,r*,, ial equalioii- I = *'y + I with y(0) : 0 at

x: 0.4. Consider terms up to'lfourth degree. (06 Marks)

oa

o.
6

o
o

8ed-

5h
a!lca
.=Nd$
h50
YO
otr<oeE
o>
E*
99
bU
6O
OE60E
.Ed

Ed
-bB!a

d6
569-a

9rE5A
6tE

3E>'a
c ol)

o=
-dH9
=o
:>.
6€
*N
o

z
6

o
o.
E

3a.
b.
c.

4a.
b.

c.

Solve the differential equation * = -*y' under the,.]nitial condition y(0) : 2, by using the

modified Euler's metliqfliat x = 0.1 and x = 0.2. T'flftb the step size h : 0.1 and carryout two
modifications at e&hriep ,, (07 Marks)

Apply 46u-siqfl$liforth method to so,I$t{the equation #=*'(r+y) given y(l): l,

y(l.l) 
= 10f.!';y(1.2): 1.548, y(1.3) =-1.979. Evaluate y(l 4) (07 Marks)

So lve f he differential equations :..." 
-,..'' 

"-

dv dzi!- - | a yy, , i = -xy for x - 0.3 using fourt$ oideY Runge-Kutta.nrethod. Initial values
dx dx - ,:,.
are x: 0, y = 0, z : l, Takiilh = 0.3. '"i'.tu"'v":,' {1,;*"n (06 Marks)

Apply Picard's metlui-itr. upto third appr,gximation to find y 
_ 
and z for the equation

d2v dv3=1+] giveny(0): l:y'(0). TU,r;' *.eu,ii.h (07Marks)
dx' dx -

Apply Milnetian6*,"0 to compule'(0.8) given rn* $=l-2y:l and the following
: :.::::. :

initial values y(0) : 0, y(0#!,,.,= 0.02, y(Q.a) {CI10795 y(0.6) = 0.1762, y'(0) : 0,

y'(0.2)'4:,p.'1996, y'(0.4) =.0-393,7; y'(0.6): 0.5689;,,: (07 Marks)

Derive Cauchy-Riemau' tions in Carte.$ia.B form. (06 Marks)

.,ff;inO ttre analytic fupction whose imaginary part is e*(xsiny + ycosy). (07 Marks)

lf (z) is an analyiC function then prove that

(#. $\o't'=qr'@)t'

Discuss the Transformation W: e'.
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5a.

b.

c.

6a.

b.

c.

PART _ B +$
Find the solution of the tuplr..Q-tti* in cyfnffidl system leading to Bend's

differential equation. ,=.,' 
ltl} "i' (06 Marks)

Derive Rodrigue's formula ,'
I dn , r r\np(x): ;a fi;t*'-rl' ..,$.i."":i 

' (07 Marks)

Express ttte potyno-ial2x3 - *' - 3* + 2 in- tetffi of Legendre polyn,9.*=i3-,lt' (07 Marks)

,:11!r

A five figure number is formed uy tne aigits o, 1,2,3, 4 without repitition. Find the

piobabilit"y that the number is divisihl+t4' r I 
06 Marks)

lf AandBareanytwoevents*itn e{n;=}, P(B)=}; rte^B)=} n',o P(A/B)'

p(B/A), P(A/B), r1e/n;, 1tn/,tl 0TMarks)

The contents of three boNq'ar'd"l white, 2 red,3 gre-en lalls, 2 wh.ite' I red' I green balls and

+ *t it", 5 red, 3 gr."p.,iti1';. Two balls are grawn.S.gm the box chosen at random. These are

rounJil u" on i"rrithff one green. Find the pfliiability that the balls are from the third

' (07 Marks)
oox.

7a.
ir!,, .:.lr:

The probab il ity-,tidtribut llowing table:

f ina:,.iiX < 5). p(X > 6), P(3 < X i 6). Also find mean-e4.0i.variance. (06 Marks)

b. FirJ-;d"" u.rd'uuiiun..'of Binornialdistribution. ;*,.'+' - 
(07 Marks)

ion of a random;tbduble X is given !:-lbg&
x 0 I 2 ...3 4 5 6 7

P(X) 0 K 2K 2K 3K r 2K 7K'+K

> 6), P(3 <X''qS).Also find mean

b. Find mbhn and varrance ot Bmolllral olsrrlourlon. *:t,:. -
c. In a normal distribution, 31%"of the items are unqeq,"1i- and 8% are 9,,.Y,9p,64. Find mean and

standard deviation. Giv.q*h{0.5):0'19, A(l'4) = '42 where A(4Js the area under the

standard normal curve,,frd-Ii0 to z. j ::i, :, ,, 

"'" ' (07 Marks)

a. Explain the folloryingr'terms: '''.1 
.

i) Null hypotfe.4is 
,,-1r* 

1' 
,:,

iil Sisnifican€es level
iiil CJnfidpnce limits. (06 Marks)

b. A'ai. *a. floo*n 9000 times and a throw of-$:offi was obtained 3240 times on the

assumDtidn of random throwina do the data indietedn unbiased die. (07 Marks)

c. e-Vfu[fri"ir, is making eryine'parts with axle,,diimeter of 0.7inch. A random sample of

l0;".tr shows mean,iiu*t.r b.Z+Z inch,. ,i,th a standard deviation of 0.04 inch. On the

basis of this sample, wquld you say that th{lvork is inferior? Given for P = 9, To.os 1?:?62'
,.,111:''' 
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